[code]#include <stdio.h>

#include <stdlib.h>

#include "LinkedList.h"

void* cont_allocate()

{


static AL *cont_v;


void* from_al_to_void;


cont_v = (AL*)malloc(sizeof(AL));


from_al_to_void = &cont_v;


cont_v->count = count;


count++;


cont_v->data = NULL;


cont_v->Prev = NULL;


cont_v->Next = NULL;


return from_al_to_void;

}

void  cont_add(void* cont, void* data)

{


AL *cont_insert;


AL *from_cont_to_alstruct;


int schet = 0;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


cont_insert = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*) cont;


while(from_cont_to_alstruct->Next)


{




from_cont_to_alstruct = from_cont_to_alstruct->Next;




schet++;


}


from_cont_to_alstruct->Next = cont_insert;


cont_insert->Prev = from_cont_to_alstruct;


cont_insert->data = data;


cont_insert->count = schet++;


cont_insert->Next = NULL;

}

void  cont_insert(void* cont, int pos, void* data)

{


int shet = 0;


AL *from_cont_to_alstruct;


AL *pos_insert;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


pos_insert = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(((from_cont_to_alstruct->count)!= pos) || (from_cont_to_alstruct->Next))


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;



shet++;


}


pos_insert->Next = from_cont_to_alstruct->Next;


from_cont_to_alstruct->Next = pos_insert;


pos_insert->Prev = from_cont_to_alstruct;


pos_insert->data = data;

}

int   cont_size(void* cont)

{


AL *from_cont_to_alstruct;


int razm_cont = 0;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(from_cont_to_alstruct->Next)


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;



razm_cont++;


}


return razm_cont;

}

void* cont_get(void* cont, int pos)

{


AL *from_cont_to_alstruct;


void* insert_data;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(((from_cont_to_alstruct->count)!=pos) || (from_cont_to_alstruct->Next))


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;


}


insert_data = from_cont_to_alstruct->data;


return insert_data;

}

void* cont_replace(void* cont, int pos, void* data)

{


AL *from_cont_to_alstruct;


void *lost_data;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


while ( ((from_cont_to_alstruct->count)!=pos) || (from_cont_to_alstruct->Next))


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;



}


lost_data = from_cont_to_alstruct->data;


from_cont_to_alstruct->data = data;


return lost_data;

}

void* cont_remove(void* cont, int pos)

{


AL *from_cont_to_alstruct;


AL *vrem_xran;


void *lost_data;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


vrem_xran = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont; 


while ( ((from_cont_to_alstruct->count)!=pos) || (from_cont_to_alstruct->Next))


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;



}


lost_data = from_cont_to_alstruct->data;


from_cont_to_alstruct->Prev->Next = from_cont_to_alstruct->Next;


from_cont_to_alstruct->Next->Prev = from_cont_to_alstruct->Prev;


from_cont_to_alstruct->Next = NULL;


from_cont_to_alstruct->Prev = NULL;


free(from_cont_to_alstruct);


return vrem_xran;

}

void  cont_foreach(void* cont/*, cont_handle*/)

{


AL *from_cont_to_alstruct;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(from_cont_to_alstruct->Next)


{

//

cont_handle(from_cont_to_alstruct);



from_cont_to_alstruct = from_cont_to_alstruct->Next;


}

}

void  cont_foreach_reverse(void* cont/*, cont_handle*/)

{


AL *from_cont_to_alstruct;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(from_cont_to_alstruct->Next)


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;


}


while(from_cont_to_alstruct->Prev)


{

//      cont_handle(from_cont_to_alstructr); 



from_cont_to_alstruct = from_cont_to_alstruct->Prev;


}

}

void  cont_release(void* cont)

{


AL *from_cont_to_alstruct;


from_cont_to_alstruct = (AL*)malloc(sizeof(AL));


from_cont_to_alstruct = (AL*)cont;


while(from_cont_to_alstruct->Next)


{



from_cont_to_alstruct = from_cont_to_alstruct->Next;


}


while(from_cont_to_alstruct->Prev)


{



from_cont_to_alstruct = from_cont_to_alstruct->Prev;



free(from_cont_to_alstruct);


}

}

[/code]
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